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T . (i) T AEr & ud gdF w1 SE
Note : Al Questions are compulsory and each question is of 1 mark.
(ii) 3 wrwrs 7 s g7 @t Rerfr F sidsht e & wr &

Only English version is valid in case of difference in both the languages.

1. U ELHLHY o aicedl SHIS ¥ - 1.  Voltage equation of a d.c. motor is
@ V=B, +LR, @ V=B +IR,
® E,=V+LR, ) E,=V+LR,
(c) V=E, +LR, () V=E +IR,
(d V=E +IR, (d V=E,+IR,
2. TS EER WA, viE Hie H i - 2. As the load increases, the speed of a
() TR ¥ g & d.c. shunt motor
(b) TRRR (a) increases proportionately
(¢) iR agdt & (b) remains constant
(@ HRHR e ¥ (c) increases slightly

(d) reduces slightly

STl & - . 3. The speed of a d.c. motor can be
(a) IHP o/t § e b controlled by varying
(b) AR ke F wfady 9 Redw (a) its flux per pole
FE . (b) resistance of armature circuit
(c) Vg aieedr § uited % (¢) applied voltage
@ SRE T (d) All of the above
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The T /1, graph of a d.c. series motor

isa

(a) Parabola from no load to
overload.

(b) Straight line throughout.

(c) Parabola throughout.

(d) Parabola upto full-load and a
straight line at overloads.

An ideal transformer is one which has

(a) A common core for its primary
and secondary winding.

(b) No losses and magnetic
leakage.

(c) Core of stainless steel and
windings of pure copper wires.

(d) Interleaved primary and
secondary windings.

A step-up transformer increases
(a) voltage

(b) current

(c) power

(d) frequency

Transformers are rated in KVA
instead of kW because

(a) Load power factor is often not
known.

(b) KVA is fixed whereas kW
depends on load power factor.

(¢) Total transformer loss depends
on volt-ampere.

(d) All above are correct.

The main purpose of performing
open-circuit test on a transformer is
to measure its

(a) Copper loss

(b) Core loss

(c) Total loss

(d) Insulation resistance
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The principle of operation of a 3-

phase induction motor is most similar

to that of a

(a) Synchronous motor.

(b) Repulsion-start induction motor.

(c) Transformer with a shorted
secondary.

(d) Capacitor start
motor.

induction-run

In a 3 phase induction motor the slip
speed is
(@ N¢N (b)

() Ng-N (d)

Ng+N
N-Ng

The speed of rotor of an induction

motor is always synchronous
speed.

(a) equal to (b) more than
(¢) lessthan (d) halfof

A single phase induction motor is

(a) self starting.

(b) not self starting.

(c) self starting with the help of
auxiliary winding.

(d) None of the above.

For cranes, the motor used must have
(a) Low starting torque

(b) Constant speed

(¢) High starting torque

(d) None of the above

Motor used in lathe machine must
have

(a) High starting torque
(b) Low starting torque
(¢) Constant speed

(d) None of these

P.T.O.
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Which of the following motor is used
in rolling mill ?

(a) Squirrel cage induction motor.
(b) Single phase induction motor.
(¢} D.C.motor.

(d) Slipring induction motor.

In resistance heating the material of
element is

(a) Steel

(b)  Copper

(¢} Nichrome
(d) Aluminium

Dielectric heating is proportional to
(a) frequency

(b) (frequency)’

(¢) (frequency)®

(d) (frequency)'?

In induction heating, which of the
following is of high value ?

(a) Current

(b) Frequency
(c) Voltage

(d) Power factor

Lumen is the unit of
(a) Illumination
(b} Luminous Flux
(¢) Intensity

(d) Solid angle

Law of illumination is

(a) Inverse square law
(b) Lambert’s cosine law
(c) Cosine cube law

(d) All of the above
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Which of the following is present
inside the fluorescent tube ?

(a) Helium and Oxygen ’

(b) Argon and Neon

(¢) Argon and Carbon dioxide

(d) None of the above

When a sodium vapour lamp is
switched on, initially the colour of
light is

(a) Red

(b) Pink

(¢) Yellow

(d) Blue

Lux is the unit of
(a) Flux

(b) [Illumination
(c) Intensity

(d) Light

Which of the following instruments
cannot be used to measure A.C.
currents ?

(a) Moving-iron ammeter.
(b) Induction type ammeter.

(c) Permanent magnet moving coil
type ammeter.

(d) Dynamometer type ammeter.

Preferred material
magnet is

(a) Stainless
(b) Alnico

(c) Tungsten
(d) Softiron

for permanent
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A hair spring attached to the moving
system is used to produce
(@) damping torque
(b) controlling torque
(¢) balancing torque

(d) deflecting torque

The pressure coil of an induction type
energy meter is

(a) high resistive
(b) highly inductive
(c) purely resistance

(d) purely inductive

Which of the transducer is used for
strain measurement ?

(a) Thermocouple
(b) LVDT

(c) Strain gauge
(d) Potentiometer

Which transducer is used to measure
temperature ?

(a) Strain gauge
(b) Thermistor
(c) Photodiode
(d) Piezo crystal

For the same rupturing capacity, the
actual current to be interrupted by an
HRC fuse is

(a) much less than any CB.
(b) much more than any CB.
(¢) equal to the CB.

(d) None of the above.
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Note :

(i)

(iii)

(iv)

)

(i)

() Terr gv s & viv 4 | el wie & ae diid |

Question No. 1 is compulsory, answer any five questions from the remaining.

(ii) TFEF T & ) T i HHAR U G & BT |

Solve all parts of a question consecutively together.

(iii) Tl 9 Bl 79 §B T qRAT g |

Start each question on a fresh page.

(iv) T s 7 oA g i Ry o st sar @ A #

Only English version is valid in case of difference in both the languages.

TARAE <9 &1 IRIT 3IRE SR |

Draw the circuit diagram of Fluorescent Tube.

A, Qe F WX F uER ol |

Write the type of starters of D.C. motors.

qRonfi % s & fg Swa 7 o areh fee < faft & am fataa

Write the name of any two method used for transformer cooling.

YIS i Wl i faraT |

Write about nature of light.

ROT HieX ¥ WeR fAfan |

Write the types of induction motor. 2x5)

foal o weg @ LA, A 1 wE Tagia TRy |
Explain the working of D.C. motors with the help of diagram.
faeeuRT it Hiet % e WHeART |

Explain the characteristics of D.C. series motor. (6+6)

@] P.T.O.
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@) wfonfs & TR ffEe qen Red T S HEuTE! H THIET |
Wirite the types of transformer and explain the working of any one of them.

(ii) qionfi & fer e 9 % ST Hi A HINT |
Find the EMF equation of a transformer. (6+6)

(9%

4. () SINuE. R S wrfafy H e i Ae ¥ wwEE |
Explain the working of a DOL starter with the help of diagram.

(i) Frpem 9ROT Hiex & Fel-aneol TEET B St Hi |

Derive the torque equation for three phase induction motor. (6+6)

5. (i) e el wd 2aeree e | SwEm A 3T arelt IEa H BRYT gfed AT |
Write the drives used in rolling mill and textile mill with reason.
(i) 9701 A & w fagia i fafaw
Write the working principle of induction heating. (6+6)

6. (i) wdifter % Prami = ffen qun Sareds §a i S BT |
Write the laws of illumination and derive the necessary formula.
(i) i o @ SEe wd v fefae |
Write the construction and working of a Neon Lamp. (6+6)

7. () wedHex % Frifaly H qEART |
Explain the working of multimeter.

(i) TR o T ORR ¥ 2 auuE St A ® faf s quH | |

What do you understand by transducer ? Explain the method to measure
temperature. (6+6)

8. Fra @ fedl gt w ditne femfor fefia -
Write short notes on any two of the following :
() s o
Power factor
(i) WREHTA
Damping force
(i) TAEE
M.CB. (6+6)



